
qm=;

=
of]hgfsf] gfd

cfof]hgf 

:yn -j8f_
ah]6 s}lkmot

1
pkef]Qmf ;ldltsf] kbflwsf/LnfO{ cg'lzIf0f 

sfo{qmd
g=kf=

75,000.00        

2
cfof]hgf ;+u ;DalGwt ;fdflhs kl/rfng 

vr{
g=kf=

50,000.00        

3
;dfj]zL ;xeflutfd'ns of]hgf th"{df uf]i7L 

;+rfng 
g=kf=

50,000.00        

4 ;fdflhs kl/If0f g=kf= 25,000.00        

5

;fj{hlgs ;'g'jfO{, u'gf;f] Joj:yfkg tyf 

kf/blz{tf / pQ/bfloTj ;DalGw sfo{qmd 

;+rfng

g=kf=

75,000.00        

6
of]hgf clen]v Joj:yfkg, of]hgf vftf 

/lhi6/ / 5kfO{ ;DaGwL vr{
g=kf=

50,000.00        

7 of]hgf cg'udg tyf d'NofÍg vr{ g=kf= 100,000.00       

8 cfof]hgf ;DalGw ;'rgf k|sfzg vr{ g=kf= 107,760.00        

9 ljljw vr{ g=kf= 100,000.00       

632,760.00        

1
al:tk'/af6 rGb|k'/ x'F'b} lx/fk'/ hfg] ;8s 

sfnf]kq]
&,*,( 4,200,000.00      

2
kz'r/0f u]6 b]vL hgafbL rf]s x'Fb} lzjdGbL/ 

hfg] ;8s sfnf]kq] #,$ 2,100,000.00      

3
cw'/f] Joj;flos ;lkË sDKn]]S; ejg lgdf{0f 

% 1,500,000.00      

4
k'/fgf] /fhdfu{af6 al:tk'/ rf]s lg:sg] ;8s 

sfnf]kq] 
& 1,500,000.00      

cf_ pkef]Qmf tyf cGo ;+3 ;+:yf;+u ;fem]bf/L g=kf= 700,000.00       

hDdf 10,000,000.00     

nfnaGbL gu/kflnsf ;nf{xLsf]                                
rf}yf] gu/kl/ifb\af6 l:js[t cfufdL cf=j=@)&$÷)&% sf]                 
k|:tfljt cfof]hgf tyf sfo{qmdx?sf] k"0f{ ljj/0f M

 sG6Lh]G;L tkm{sf] k|:tfljt sfo{qmdx? M s'n ah]]6 -?=^,#@,&^).–_

hDdf

 ;Dk'/s sf]ifaf6 ;+rfng x'g] cfof]hgfx? M -s'n ah]6 ?=!,)),)),)))_

c_ gu/If]q k'jf{wf/ ljsf; sfo{qmd 

gu/kflnsf cg'bfg tkm{ M ?=%,!),(@,))).–
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1 a|Xd:yfg 3]/fa]/f tyf ;fd'bflos ejg ! 550,000.00       

2
b'uf{ sflnsf ;fd'bflos jg kl/;/df  

;fd'bflos ejg lgdf{0f # 500,000.00       

3 dlxnf ;fd'bflos ejg lgdf{0f g=kf= 550,000.00       

1,600,000.00      

1
lakGg dlxnfx?sf] nflu cfo cfh{g jf l;k 

ljsf; tflnd 

g=kf= 300,000.00       

300,000.00       

1
lth, gfl/lbjz nufPt lbjlzo sfo{qmd 

;+rfng 
g=kf=

       45,924.00 

2
dlxnf xs clwsf/ / lx+;f Go'lgs/0f ;DalGw 

;r]lts/0f sfo{qmd tyf ;+:yfut ;'wf/ g=kf=        100,000.00 

145,924.00       

dlxnfsf] s'n hDdf 2,045,924.00      

1 k|f=lj= lz;'jfsf] cw'/f] sDkfp08 jfn lgdf{0f ! 100,000.00       

2 k|f=lj= /lGhtk'/sf] k'jf{wf/ ;'wf/ # 100,000.00       

3 cd/Hofg lg=df=lj=sf] ef}lts k'jf{wf/ ;'wf/ # 100,000.00       

4
lz=s=h= p=df=lj= xl/ejgsf] cw'/f] ;/:jlt 

dGbL/ lgdf{0f 

@

100,000.00       

5 hfgsL p=df=lj= sf] k'jf{wf/ ;'wf/ # 150,000.00       

6 lx/fk'/ lg=df=lj= k'jf{wf/ ljsf; ( 150,000.00       

7 ;]ltle/ k|f=lj=sf] cw'/f] sDkfp08 jfn
(

200,000.00       

8 k|f=lj= efn'vf]ksf] k'jf{wf/ ;'wf/ !) 200,000.00       

9 e]6g/L clkm; cuf8L lrN8«]g kfs{ lgdf{0f 
!)

200,000.00       

10
k|fylds :jf:Yo s]Gb| nfnaGbLsf] kmlg{r/ 

Joj:yfkg 

&

100,000.00       

11 :jf:Yo rf}sL hAbLsf] k'jf{wf/ ;'wf/ 
@

50,000.00        

12 afnd}qL k':tsfno :yfkgf / ;+rfng g=kf=        88,886.00 

1,538,886.00      

hDdf 

cfly{s lzk ljsf; ?=#,)),))).

 nlIft ;d'x ljsf; sfo{qmdx? M ?= (@,)^,^%*.–

hDdf

 ;+:yfut Ifdtf ljsf; ?=!,$%,(@$.–

k"jf{wf/ ljsf; M ?=!^,))))).

 1= dlxnf M ?=20,45,924.

2= afnaflnsf ?=30,68,886.

hDdf 

hDdf 

k"jf{wf/ ljsf; ?=!%,#*,**^.
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1
afnaflnsfsf] cj:yf ljin]z0f ug{ ;j]{If0f tyf 

k|f]kmfOn tof/L 
&

300,000.00       

2
zx/L :jf:Yo lSnlgs e}/jk'/sf] nflu cf}iflw 

vl/b tyf dft[ lz;' :ofxf/ sfo{qmd 

!        100,000.00 

3
ljBfno :tl/o aSt[Tjsnf tyf xflhl/ hjfkm 

k|ltof]lutf ;+rfng 

g=kf=        100,000.00 

4

df=lj=÷p=df=lj=df lszf]/L ;xof]u sIff (Help 

Desk) ;+rfng tyf k|hgg :jf:Yo ;DalGw 

;r]lts/0f sfo{qmd 

g=kf=        150,000.00 

5 afnd}qL :yfgLo zf;g tyf afn clwsf/ 

;DalGw /]l8of] sfo{qmd ;+rfng 

g=kf= 100,000.00       

6
afn>d, of}g lx+zf, afnlaafx pGd'ng tyf 

afnd}lq lzIffsf nflu ;r]lts/0f sfo{qmd 

g=kf=        100,000.00 

7
afn Snax?sf] nflu v]n ;fdfu|L tyf :6]zg/L 

ljt/0f 

g=kf=        100,000.00 

8 ul/a tyf h]xGbf/ ljBfly{nfO 5fqa[lQ tyf 

k|f]T;fxg sfo{qmd

g=kf=        50,000.00 

9 afn e]nf tyf lbjlzo sfo{qmd ;+rfng g=kf=        50,000.00 

10
afn ;+hfn tyf afn Snax?sf] lgoldt a}7s 

;+rfng tyf ;r]lts/0f 

g=kf=        130,000.00 

11 dlxnf :jo+ ;]ljsfx?sf] k|f]T;fxg tyf Ifdtf 

ljsf; sfo{qmd 

g=kf=        350,000.00 

     1,530,000.00 

     3,068,886.00 

1 kTy/sf]6 :jf:Yo rf}sLnfO{ kmlg{r/ !!        200,000.00 

2 ljZj zfGtL u'Dafsf] sDkfp08 jfn $        150,000.00 

3
efn'vf]kdf s'jf lgdf{0f !)        50,000.00 

4 O{gf/ dd{t – ;]ltle/, g]jf/ 6f]n, lhDaf6f]n, 

s'n a= 6f]n ( 152,000.00       

552,000.00       

cGo nlIft ju{ ?=30,68,886.

 hDdf

1= cflbjf;L hghftL M ?=9,20,000.

hDdf 

;fdflhs Ifdtf ljsf; ?=!%,#),))).

afnaflnsfsf] s'n hDdf 

k"jf{wf/ ljsf; ?=5,52,000.
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!

cflbjf;L hghfltx?sf] nflu dfusf] cfwf/df 

lzk ljsf; tflnd g=kf= 150,000.00       

!
ljZj cflbjf;L lbj;sf] cj;/df ;f:s[lts 

sfo{qmd tyf k|lzIf0f g=kf= 100,000.00       

@ ILO-169 tyf hg jsfnt ;DalGw sfo{qmd g=kf= 78,000.00        

#
h]xGbf/ cflbjf;L hghftL ljBfly{x?nfO 

5fqa[Q tyf k|f]T;fxg sfo{qmd  g=kf= 40,000.00        

218,000.00       

920,000.00       

1 d'zx/L 6f]nsf] cw'/f] ;fd'bflos ejg @        200,000.00 

2 blnt al:tdf ;fd'lxs cf/g $        50,000.00 

3

blntx?sf] ;fdflhs Ifdtf ljsf;sf nflu 

;r]lts/0f / g]t[Tj ljsf;  
g=kf=

       100,000.00 

4 ljkGg blntx?sf] lzk Ifdtf ljsf; tflnd g=kf= 110,000.00       

460,000.00       

1 dnfxf jl:tdf ;fd]bflos ejg lgdf{0f @ 300000.00

2
ljkGg lk58f ju{x?sf] nflu cfo cfh{g / l;k 

ljsf; tflnd g=kf= 125,000.00       

3 lk58f ju{x?sf] ;fdflhs Ifdtf ljsf; g=kf= 95,000.00        

520,000.00       

! lx/fk''/ rf}tf/f] lgdf{0f ( 100000.00

@ nfnleQLdf k|ltIffno lgdf{0f !) 200000.00

3
h]i7 gful/s ;Ddfg tyf :jf:Yo lzlj/ 

;+rfng 
g=kf=

100,000.00       

400,000.00       

! ckfËx?sf] nflu ;xof]uL ;fdfu|L ljt/0f g=kf= 100000.00

@

cfo cfh{gsf] nflu l;k, Ifdtf ljsf; tflnd 

g=kf= 75000.00

#
ckfË e]nf tyf ;fdflhs Ifdtf ljsf; 

sfo{qmd ;+rfng 

g=kf= 50000.00

225000.00

hDdf 

hDdf 

cflbjf;L hghftL s'n hDdf 

$= h]i7 gful/s M ?=$,)),))).–

hDdf

%= ckfË M ?= @,@%,))).–

hDdf

2= blnt ?=4,60,000.

hDdf 

 #=lk58f ju{ M ?=%,@),))).–

cfly{s lzk ljsf; ?=!,%),))).

;fdflhs Ifdtf ljsf; ?=@,!*,))).
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1 ltnaf/L ;8s lj:tf/ !!        160,000.00 

2 sd{808L ;8s lgdf{0f !!        300,000.00 

      460,000.00 

1 dbzf{ :t/f]GgtL tyf k'jf{wf/ * 83,886.00

    3,068,886.00 

1 n]sfnL rf}8Lsf]  v]n d}bfgdf tf/hfnL  $ 300,000.00       

2 o'jf d}qL k':tsfno :yfkgf / ;+rfng g=kf= 222,962.00        

3
ljleGg v]ns'b k|ltof]lutf ;+rfng, k|lzIf0f Pj+ 

v]n ;fdfu|L g=kf= 300,000.00       

4
ljleGg hft hftLx?sf] snf, ;+:s[tLsf] ;+/If0f 

/ k|j4{g  g=kf= 200,000.00       

1,022,962.00      

9,206,658.00      

1 sfof{no ejg tyf sDkfp08 jfn lgdf{0f 6 10000000.00

2
 d]h/u+h b]vL  e}/jk'/ hfg] d'n ;8s kSsL gfnf 

;lxt sfnf]kq] 
3,2 / 1

10000000.00

3 7uf rf}w/Lsf] O{gf/ 5]p ;fd'bflos ejg lgdf{0f ! 500000.00

4 ;vf}6L hfg] k'n lgdf{0f @ 700000.00

5 8]/L rf]saf6 k'j{ ;8s :t/f]GgtL @ 500000.00

6
k'/fgf] /fhdfuaf6{  lhj; dxtf]], /fd k|;fb 

clwsf/Lsf] 3/x'Fb} 6fj/ ;Dd ;8s 9nfg
3 500000.00

7 kz'r/0f pQ/ tkm{sf] af6f] gfnf lgdf{0f tyf sNe6{ 4 500000.00

8
zx/L ;f}Gbo{ / xl/t zx/sf nflu /fhdfu{sf] b'j} tkm{ 

&% lkm6 ;kmf u/L  a[Iff/f]k0f / hfnL 
5 1000000.00

9
kbd axfb'/ :ofªjf]sf] 3/b]vL gGbnfn ljssf] rf}tf/f] 

;Dd ;8s sfnf]kq] jf 9nfg 
6 1500000.00

10 hgHof]lt ax'd'vL SofDk;sf] ;6/ ejg lgdf{0f 7 500000.00

11
SofDk; rf]s pQ/ j8f g+= * sf] l;dfgf ;Dd ;8s 

sfnf]kq] 
7 1700000.00

12
/g a= uf]n]sf] v]t blIf0f t/sf/L ahf/ hfg] af6f]df 

sNe6{ lgdf{0f 
8 700000.00

13

;8s lj:tf/ ;]ltle/ – r'kL 8u/, s[i0f k'nfdL 6f]n, 

u'Daf 6f]n, hdfO 6f]n, sf]O/L 6f]n 9 700000.00

14 tNnf] kTy/sf]6df sNe6{ lgdf{0f 11 700000.00

29,500,000.00       

o"jf, v]ns'b tyf dgf]/Ghgsf] hDdf 

hDdf 

 o"jf, v]ns'b tyf dgf]/Ghg M ?=10,22,962.

6= nf]]kf]Gd'v, l;dfGts[t -r'/]If]q_ M ?=4,60,000.

&= d'lZnd M ?=*#,**^.–

cGo nlIft ju{ s'n hDdf

;a} nlIft ju{sf] s'n hDdf 

 ef}flts k"jf{wf/ ljsf; sfo{qmdM ?=@,(%,)),))).–

hDdf
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1
km'nhf]/ gbL psf; hUufdf a[Iff/f]k0f, ;+/If0f 

tyf 3]/fa]/f 

1
         50,000.00 

2 /fwf s[i0f dGbL/ lgdf{0f @ 100000.00

3
wg axfb'/sf] 3/b]vL k'j{ d'n ;8s dd{t tyf 

:t/f]GgtL  
@ 350000.00

4 xg'dfg dGbL/ lh0ff]{4f/ 4 150000.00

5 /d]z b'nfnsf] 3/ 5]p O{gf/ dd{t 4 70000.00

6
h+u] >]i7sf] 3/ b]vL b]jL axfb'/ >]i7sf] 3/ ;Dd 

;8s :t/f]GgtL 
6 200000.00

7 a|Xd:yfg dd{t h+un 6f]n 9 150000.00

8 nvGb]xL vf]nf b]vL 7f8f] d'n af6f] afFw ;Dd u|fe]n 10 200000.00

9 af?n] 8fF8fdf ;8s lj:tf/ 10 150000.00

10 uf]tfd] 6f]n ;8s lj:tf/ 10 75000.00

11 x/]/fd ;+s[tg ejgsf] lh0ff]{4f/ 10          157,582.00 

12
ljZj zfGtL u'Daf, tNnf] kTy/sf]6 u'Daf sDkfp08 

jfn lgdf{0f 
11 100000.00

1,752,582.00        

51,092,000.00     

1
al:tk'/af6 rGb|k'/ x'F'b} lx/fk'/ hfg] ;8s 

sfnf]kq]
&,*,( 7,000,000.00      

2
kz'r/0f u]6 b]vL hgafbL rf]s x'Fb} lzjdGbL/ 

hfg] ;8s sfnf]kq]
#,$ 3,500,000.00      

3 cw'/f] Joj;flos ;lkË sDKn]]S; ejg lgdf{0f % 2,500,000.00      

4
k'/fgf] /fhdfu{af6 al:tk'/ rf]s lg:sg] ;8s 

sfnf]kq] 
& 2,500,000.00      

15,500,000.00     

1 gu/ If]q k'jf{wf/ ljsf; sfo{qmd g=kf= 6,200,000.00      

2 cGo cfof]hgfut nfut ;xeflutf g=kf= 2,000,000.00      

8,200,000.00      

1
u|Lg P08 lSng l;6L ;le{; k|f=ln= x]6f}8fnfO{ ;Demf}tf 

adf]lhd ;/;kmfO{ Joj:yfkg vr{ e'QmfgL 
g=kf= 750000.00

2
dd{t ;Def/ sf]if dfkm{t gu/sf ;a} j8fsf ;8sx? 

cfjZostf cg';f/ dd{t ;Def/ 
g=kf= 550000.00

3
ab|L axfb'/ yfkfsf] 3/ cuf8L gofF ;8sdf sNe6{ 

lgdf{0f 
@ 100000.00

4 OGb|k'/af6 gofF6f]n ;Dd hfg] ;8s :t/f]GgtL @ 100000.00

5 gFof6f]naf6 xl/k'/ hfg] ;8s :t/f]GgtL @ 200000.00

cfGt/Ls >f]t tkm{sf ef}lts k"jf{wf/ tyf k|j4{gfTds sfo{qmd M ?=*%,)%,%)).–

hDdf

gu/kflnsf cg'bfg tkm{sf] s'n hDdf 

hDdf 

pkef]Qmf gub nfut ;xeflutf ?=*@,)),))).

hDdf

k|j${gfTds sfo{qmd ?=1752582.

gu/ Ifq k'jf{wf/ ljsf; sfoqmd ?=!,%%,)),))).
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6 d6]nL afFw lgdf{0f ÷ s/}of s[ifL ;8s :t/f]GgtL @ 100000.00

7 dnfxf 6f]naf6 blIf0f ;8s :t/f]GgtL @ 150000.00

8 8'd8'd] gx/df afFw lgdf{0f 2          150,000.00 

9 efUodfgL rf}8Ldf l;+rfO{ O{gf/ lgdf{0f 7 300000.00

10 nvGb]xL vf]nfdf af6f] lgdf{0f 10 100000.00

11 lji0f' sfsL{sf] v]t glhs l;FrfO{ s'nf] lgdf{0f 3          350,000.00 

12 gf/fo0f 8fF8f af6f] lgdf{0f 11 300000.00

13 s[lif tyf kz' If]qsf] ljsf; / k|j4{g g=kf= 100000.00

14
jftfj/0f ;+/If0fsf] nfuL ;/;kmfO{ tyf ;r]lts/0f 

sfo{qmd ;+rfng 
g=kf= 100000.00

15
kmf]x/ Joj:yfkg z'Ns ;Demf}tf cg';f/ u|Lg P08 

lSng l;6L ;le{; k|f=ln= x]6f}8fnfO{ lkmtf{ 
g=kf= 500000.00

16 gu/ ljsf; sf]if C0fsf] ls:tf tyf Jofh g=kf= 300000.00

17 lztnx/af6 aRg ;r]lts/0f tyf Joj:yfkg g=kf= 50000.00

18 ;flxlTos sfo{qmd ;+rfng / k|j4{g g=kf= 50000.00

19 kqsfl/tf If]qljsf; sfo{qmd g=kf= 100000.00

20
:YfgLo zf;g tyf gu/ ljsf; ultljwL af/] /]l8of] 

sfo{qmd ;+rfng 
g=kf= 100000.00

21
gu/ ljsf; ultljwL / ;Defjgf ;DalGw a[tlrq 

lgdf{0f tyf k|zf/0f
g=kf= 100000.00

22 ;fd'bflos d]nldnfk k|j4{g sfo{qmd ;+rfng g=kf= 100000.00

23
4Gb lkl8tsf] ;Ddfg tyf :yfgLo zfGtL k|j4[g 

sfo{qmd 
g=kf= 50000.00

24 of]u Wofg lzlj/ ;+rfng / k|ljwLdf ;xof]u g=kf= 50000.00

25 8]+u' /f]u lgoGq0f tyf ;r]lts/0f sfo{qmd g=kf= 50000.00

26 ;fj{hlgs hUuf vf]hL, ;+/If0f / a[Iff/f]k0f g=kf= 250000.00

27
pBf]u afl0fHo ;+3 nfnaGbL dfkm{t Jofkf/ k|j4{g 

tyf s/ lzIff ;DaGwL sfo{qmd ;+rfng 
g=kf= 250000.00

28
z'/lIft / dof{lbt a}b]lzs /f]huf/ ;DaGwL ;r]lts/0f 

sfo{qmd / xf]l8{Ë af]8{ 
g=kf= 100000.00

29 cfsl:ds ljkb\ Joj:yfkgsf nflu ljif]z sf]if g=kf= 50000.00

30
gu/ ljsf; sf]if dfkm{t ;fljs t/sf/L ahf/df ;lkË 

sDKn]S; lgdf{0fsf nflu ;Dk'/s sf]if 5 2500000.00

31

t/sf/L ahf/b]vL blIf0f k'/fgf] /fhdfu{ lgZsg] 

;8snfO{ zlxb dfu{ gfdfs/0f u/L zlxb O{unsf] 

zflns Joj:yfkg / ;+/If0f 

g=kf= 355500.00

32
e/t kf}8]nsf] 3/ klZrd ejflg k|= a/fnsf] 3/ x'Fb} 

elj{g sDkf]i6 dn sf/vfgf hfg] ;8s dd{t
5,7 200000.00

8,505,500.00      cfGtl/s >f]tsf] hDdf 
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1
e}/jk'/ ;'sb]j rf]s b]vL pQ/ hfg] af6f]df k'j{ 5]p 

cw'/f] gfnf lgdf{0f
! 650000.00

2 /fdhfgsL kfs{ cuf8Lsf] sNe6{ lgdf{0f 3 650000.00

3 n]sfnL rf}8Lsf] af9L lgoGq0f 4 500000.00

4
aGbgf d]l8snaf6 pQ/ hfg] ;8s klSs 9nfg tyf 

gfnf lgdf{0f  
5 700000.00

5 ;fj{hlgs ejg lgdf{0f 8 500000.00

6 ;]ltle/ s'gf 6f]ndf sNe6{ lgdf{0f 11 500000.00

7

pkef]Qmf ;ldtL / cGo ;+3 ;++:Yff dfkm{t ;fem]bfl/df 

sfo{qmd ;+rfngsf nflu ;dk'/s sf]if g=kf= 500000.00

4,000,000.00     

1 lbn axfb'/ /fgfsf] 3/ glhs Ogf/ dd{t 4 100000.00

2 ljleGg :yfgdf ;f]nf/ alQ 8 500000.00

3 hNsLgL ;8s dd{t 10 200000.00

800,000.00       

1 kfgL 6\ofª\sL hfg] ;8s dd{t tyf :t/f]GgtL  9 500000.00

2
 5]8fb]vL kfgL3§f x'Fb} efn'vf]k hfg] d'n ;8s tyf 

al:t leqsf ;8s lj:tf/ 
10 500000.00

3 lhofhf]/ rf}tf/f] b]vL ;fOkmg ;Dd ;8s lj:tf/ 10 500000.00

1500000

1
;fljs t/sf/L ahf/df ;lkË sDKn]S; lgdf{0f 

%
50,000,000.00     

50,000,000.00     

139,597,500.00    

1 gu/kflnsf cg'bfg rfn' vr{ g=kf= 4,510,000.00      

2 cfGtl/s >f]t rfn' vr{ g=kf= 6,929,500.00      

3 Pn=lh=l;=l8=kL= cg'bfg g=kf= 2,500,000.00      

4 ;fdflhs ;'/Iff cg'bfg g=kf= 50,000,000.00     

63,939,500.00     

203,537,000.00   

/fhZj afF8kmfF8-dfnkf]t_ tkm{sf ef}lts k"jf{wf/ tyf k|j4{gfTds sfo{qmd M ?=$),)),))) .–

hDdf 

hDdf

cfufdL cf=j= 2074÷2075 sf] nfuL k|:tfljt s'n ah]^ 

gu/ ljsf; sf]ifaf6 C0f lnO{ ;+rfng ul/g] cfof]hgf x? M ?=%,)),)),))) .–

hDdf

cfof]hgfut s'n ah]^

hDdf 

;8saf]8{ af6 k|:tfljt cfof]hgfx? M ?=!%,)),))).–

hDdf

rfn' vr{ tkm{sf] k|:tfljt lzif{sut ljj/0f

>f]t pkof]u tyf afF8kmfF8 tkm{sf ef}lts k"jf{wf/ tyf k|j4{gfTds sfo{qmd M ?=*,)),))) .–
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